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70 + 6 (B) 13 -6 (P)
747 (1) 34 - 10 (E) 30 + 60 (Y)
90 + 2 (Y) 12 -10 (A) 42 - 20 (M)
8 -5 (b) 30 + 6 (T) 14 -4 (3)
30-10(5) 20+ 1 (H) 90 - 5 (K)
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1. BctaBp 4mciia B OKOIIKM TaK, 4TOOBI PaBECHCTBA ObLIM

BEPHBIMMU.

40 + 3. =43

S0 +7=57

60 + 1. =61
2. Haijmn 3Ha4eHWS BBIPAKCHUU.
18 -9+5=14 67 - 760
7+ 6-3=10 59 +1= 60
48 - 40=38 70 -1= 09
3.IlocTaBp CKOOKM TakK, YTOOBI 3aITUCU OBLIIH BEPHBIMU.
14 (10 - 3)=17
6 +(18 —8)=16
4. CpaBHH, IIOCTaBb 3HAKH >, < UJIU =,
15 -5 10+6 6M3 1M =~ 36 1M

O+7 =7+9 15... 65 MHUH



MOJIOJIIb !




